0.05[

—0.05};

< 00, > (M)

B .
=8OR -H|-- i
10@_.||!||||!||||I||||I||||!||||
-3 -2 -1 0 1 2 3

<opyp, > ()

Ratio

o
[N

<0 > (rad)
o
o =
'E [¢)]

100

(@)

-2

-1

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1
T

.......

iy
LLLILS LLLLE LLLLE LAY

-1

0 1 2 3
TP n (PCA to beamline)

—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__i
—— CMSSW_12_3 X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__|

mkFitOLD__RECO
mKFitNEW__RECO

........

.........

TP n (PCA to beamline)

T T[T T [T T T [T [T [T T T T T T[T [ TrTT

o 1 2 3
TP n (PCA to beamline)

= 100

be-[34 $134 - $019 + 41 -|- - -

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


